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R e c a P of /oﬂe-u éouy /ec%"e,

1. Ifxe[-1,5] then

/ [13]

5- 6xe | 2= 1
,e./ = € (coo, 1]V LS, )
& we_ o9 241

1
o 5

e C@




R e c a p Of /oﬂe‘u L'oug;f /ec?é}te,

.2./ y =f(x) = x? - 5x + 4, x € R. Then find range of
[-_1_3. ,oo)z
(i) y=x2-5x+4wherexeRis__L Ya
(i) y=x?-5x+4wherexe [0,2]is__[Z2] (x re :ees:)
(iii) y=x?-5x+4 wherex € [2, 5] is [.’q/*o.“] \c:';i"
(iv) y=x?-5x+4 wherex e (-1, 3)is 9y,10)

feg.<)=E%)

2

‘( (X):X‘."S XY

B | £ Q>0 1 D
¥ y=ax’?+bx+c20VxeRif FDSO = XE =R+ as-3% +Y

4, y=ax’?+bx+c<0VxeRif Q<0,dx0.

e 3
:(X"%) '\”\\—18\\\=Q—§_)t 1
./5( y=ax’+bx+c>0VxeRif a>0,2<0 >\

b/ y=ax’+bx+c<0VxeRif Q<0"“3<O










R e c a P Of /0/‘8-&‘ (o g /e-c%(;«e,

7. 1fD <0 then graph of y = ax? + bx + c lies entirelyobove x-axis or ?""*"'g Lelo-axis.

8. Ifax?+ bx+ chasnonreal roots & a+ 2b + 4c <0 then \7</ -
a~pDrc_ =9 ,4a-2b+c_<O s <o S
£ “e2) /’\
9. Graphof l.y=x*+x+1 2.y= =
% UpWearel opening pova o Y= =+ “\;‘:f;:‘d{o\j"“‘“ﬁ
* ‘\)«),ooo\( . % Rovte —,A
ez alore Xawis, D=0~ '

tOuthey XGxit.
| RV, 0)= (0,0)

V(i) % bor Yexi
axiz (o,
* PQI vQXi; (Q") | )

* = =D =-(\-\\) - o
i 2= \‘\) =y @ %,







Homework Discussion






QUESTION ) (A—pss"')

The graph of quadratic polynomial f(x) = ax? + bx + c¢ is shown in below. Which of the

following are correct?
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d%(-l
@ f(x) >0Vvxe(0,B) e

@ abc <0 S‘“'R:-h’)o
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Aao Machaay Dhamaal
Deh Swaal pe Deh Swaal




QUESTION )

8’

Find the range of f(x) = 2x* — 3x + 2 in [0, 2] 3 Ans. : |7 4]
Find the range of f(x) = —x2 + 6x — 1 in [0, 4] Ans: [-1,8]

3 = A X =3 %X+ C7/s, L'J




question )

Find the range of f(x) = 2x* — 3x + 2 in [0, 2] -: Ans. : [; 4:]

Find the range of f(x) = —x* + 6x — 1in [0, 4] Ans.: [—1, 8]
Fx)= —x>+6x—| '

= — | -(x‘:_cx+3—9)

..‘
















wrox=$(K2)

v & anex volua
o Quad {x) =+ er+ ¢

10 LK, k1) depends wn
vw&i\-‘mﬂ VYRR veloR.

Yok )

yNnGxX = -F(K!)

L alk g :-P[ K,,)




Qussnon) St

Find all numbers p for each of which the least value of the quadratic trinomial
4x? — 4px + p? — 2p + 2 on the interval 0 < x < 2 isequal to 3

f(x): Ux=Ypx+ P=2p+2 hos vnm vatae =3 mxe[o,z]

Given ~ TN
P xV = =(-4e) = o 3
2 -y -
Caccl) P 0—?P<0 C.Qse a1 Fe] C\__\,““@ \¥-0< 'L<2
R \SU \j( -
M S
et (0) =39 P apaasy & TP+ apyas 3 ,." lb +P-mﬂ
. ""P-\* P*\op =g ‘“"l\“l““d)

Ans.P=1—-+v2or5++V10



FJL optis=0

=IOI‘J"IO
—
P=5s+J9

,A

A09P S+Jo, V1>




Range of Rational functions}

Typel:
c ~ linear, c _ax+b a#:b
= linear , -e (x)_cx+d c d

Sx:

XY+ SyY=3n+ 2
Uny-3x=2-3Y










Type 2:
f(x) = (quad), where numerator & denominator contain a common factor.
(quad), ' 3) (x-Y)
Pex)= xZyx+1 =377
X—ix T2l @) (x7)
Steps: |
f(x): R l . X:‘:’B N,
(i) Factorize numerator & Denominator X7 §$(3) = éé:‘_*:l -
(ii) Say (ax —b) is a common factor, cancel (ax — b) frok)numerator & denominator
and write x # b/a. Rangp = R- b ,‘[\"S

(iii) Now f(x) = 2=2 x # b/a&range = R — {E' f(E)}

rx+s r d



QUESTION )

e f£(x) X —5Xx+6
ind range of f(x) = .
5 X% -6x+8 XY= c*
J=G9x3) _— y(a)=23-21 .y I
(x=2) (A-v) T2t

IR e ~Roge RSEAGL

Revge. - 11,112} 9= %3 "
. ) *-\| AN

AN ] o) e ey~ SR
\ it et )

. RY=X -yt =3 \"-.

ALY N)-Uy)=
Oy Ly-1) =










QUESTION )

x%+x+1 X=x+I+0 ~ Y xeR
Find domain & range of f(x) = R t]}(o a»0
alioosgr +\2
# = X+x+| '
R—x+ _ x4+ x+) =3 ¢ Ronge
r ¥ ' 8X~ A2- R+
g T dT At L3 x4+ 1= X =2 XTI
Y (y-1) = x\ly+) +Y-1=0 23 YR4+2=0
m\f\,@ 3"'\# V) S\Y\CQ RER, ; D20 )\E_L\(-\——\ =L
e Y| s
D= (YH)= 4 (y1) W) 2D
( \L \ Y 1 ) i K Y\ =\ % k%?l,
> ) ACRDRA S .
(Midayay a2 g Per= WS
2Y-1) (39)29 IE TN

W) 9-3) o= Y& DA} 1 Be¢g N veod x







QUESTION ) V0

Find domain & range of \V.‘\@/

= XL X+3  _ x> +2 -2 +
2x% +2x+3 /‘J' °7'; bkl B e T D b 3
f(X) = R+x+) )(’..'.x-'—'
x24+x+1
- =2 OPrxr) +) - a4
)\;'}K'\'\‘:‘:O R34 4|
J» Bl T T M@ 3
Q>0 e
Q_h,)o.ar!-*\&




QUESTION )

Find domain & range of f(x) = :

MO ¢
MG
e S
\M@, 3‘—%2_ A=tan®
8:&'{01\@
o
N =30












































































n ,‘[\ :

~

‘C\éu =) f‘f,"‘.,.j ‘t\ ) fe * ;\}’

D co
Ua* - Y (a+y)(Ra-¢) <o
Uag? -(UO+IG){T:.1 k) 20
Ha? - (S‘a?-— AUa + 2 - 36) <0
Hat- Jarte- Jda + 98 <O
Ha® + §a- Q¢ >0

QLW >0
















